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Diving into M
astery - Diving

Adult Guidance with Question Prom
pts

Children recognise how
 num

ber bonds to ten help them
 to add 

num
bers w

ith a total greater than ten and up to 20. Provide 
children w

ith num
ber lines and ten-fram

es for them
 to see 

practically how
 to bridge ten. 

How
 m
any do you add to the first num

ber to m
ake ten?

How
 m
any m

ore do you need to add after getting to ten?

How
 can you use num

ber bonds to ten to help add num
bers?

How
 m

any m
ore do you need to add to the ten-fram

e to 
m
ake ten? 

How
 m
any m

ore do you need to put in the second ten-fram
e?

W
ould it change the answ

er if you changed the num
bers 

around? (For exam
ple, 5 + 7 instead of 7 + 5.)

How
 m

any do you need to add to one (sw
ap for all other 

num
bers from

 tw
o to nine) to m

ake ten?
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Diving into M
astery - Deeper

Adult Guidance with Question Prom
pts

Children recognise how
 num

ber bonds to ten help them
 to add 

num
bers w

ith a total greater than ten and up to 20. They use a 
variety of pictorial representations to help them

 visualise how
 

to bridge ten.

How
 can you use num

ber bonds to ten to help add num
bers?

On the num
ber track, w

here do you start counting forw
ard 

from
? W

hy?

How
 could you use counters in the sam

e w
ay to add num

bers 
w
here the answ

er is greater than ten?

Can you use a num
ber line to m

atch the one w
hich doesn’t 

have a partner?

Can you use a part-w
hole m

odel to m
atch the one w

hich doesn’t 
have a partner?

W
ould it change the answ

er if you changed the num
bers 

around? (For exam
ple, 9 + 8 instead of 8 + 9.) W

hy?
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Diving into M
astery - Deepest

Adult Guidance with Question Prom
pts

Children recognise how
 num

ber bonds to ten help them
 to 

add num
bers w

ith a total greater than ten and up to 20. They 
recognise w

ays to solve a w
ord problem

 w
here the answ

er 
bridges ten.

W
hy doesn’t the first ten-fram

e use num
ber bonds to ten to 

help solve the problem
?

W
hy doesn’t the second num

ber part-w
hole m

odel use num
ber 

bonds to ten to help solve the problem
?

W
ould it change the answ

er if you changed the num
bers 

around? (For exam
ple, 8 + 7 instead of 7 + 8.) W

hat do you 
know

 about the order of adding num
bers?

W
hich is easier: using counters and placing them

 altogether and 
counting or the w

ays show
n on the card? W

hy?

Can you show
 the answ

er to your problem
 using a num

ber line 
and partitioning?
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